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>>b=[1 2 3;4 5 6]

b=

1 2 3
4 5 6
>> size(b)
Ans =

2 3
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>>a=[1 2;3 4]; b=[0 5;-2 6];
a=
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>>add=a+b

Add=
1 7
1 10
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>>ab=a—-b
ab =
1 -3
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>>as=a+ 10
as=

11 12

12 14
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>>A=[1 2 3;4 5 6;7 8 9]

A=

1 2 3

4 5 6

7 8 9
>>y=repmat(A,2)
y:

1 2 3|1 2 3
4 5 6|4 5 6
7 8 97 8 9
1 2 31 2 3
4 56 456
78 97 8 9




>>y=repmat(a,2,3)

Y=

123123123
4 56 456 456
78 97 8 8 7 89
123123123
4 56 456 456
78 97 8 97 89
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Y=reshape(a, row no, col no)
Sl 2y 32ee Y 222 colno 5 JSE 2y s saallaze rowno Jie Cua

;b

>>A=[1 2 3 4,56 7 8;910 11 12;13 14 15 16]
A=
1 2 3 4
5 6 7 8
9 10 11 12
13 14 15 16
>>y=reshape(A,2,8)
Y=
1 9 2 10 3 11 4 12
5 136 1 7 15 7 16
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>>x=[1 2 3],y=[4;5;6]
X=
123
y:
4
5
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>> dot(x, y)

Ex3:

32

Ex2:
>>a=[1 2 3], b=[3 2 1]

>> dot(a,b)
ans=
10

>> cross(a,b)
ans =

4 8 -4

>>A=[1 2;0 3], B=[4 2;1 3]
A=
1 2
0 3
B=
4 2
1 3

>> dot(A,B)

ans =

13 4
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>> A.*B
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>>a
A=2 3 54 7 1,9 3 8
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>> prod(a,1) ... or prod(a)
Ans=
72 63 40

>> prod(a,2)

Ans=
30
28
216
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>>a=[3 5 1;7 0 2;4 7 5]

a=

3 51
7 0 2
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>> y=sort(a,1)
Y=

N P~ w
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>> y=sort(a,2)

Y=

1 3 5
o 2 7
4 5 7
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>> sort (a,3)
??7? error using ==> sort
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>a=[1 2 3;4 5 6;7 8 9]

a=

1 2 3

4 5 6

7 8 9
>>y=sort(a,1, 'descend’)
Y=

7 8 9

4 5 6

1 2 3

>>y=sort(a,2,'descend")
Y=
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sort(a, 'descend’)

>> ones(3)
Ans=

1 1 1
1 1 1
1 1 1

>> ones(2,3)
Ans=

>> ones(3)*5
Ans=

5 5 5
5 5 5
5 5 5

>> zeros(3)
Ans=
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>> zeros(2,3)
Ans=

O 0O

O 0O

>> zeros(size(a))
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>> R=eye(3)
R=

0O O
10

0 1

o O

>>a=[1 2;3 4]
a:

1 2

3 4

>> sl=eye(size(a))
sl=

10

0 1

>> g=eye(3,4)

q:

1 0 0 O
O 1 0 O
O 0 1 O



